
 

 

   Edwards XDS 35i Tip Seal & Exhaust Kit – A73001801 

DESCRIPTION QTY 
Exhaust Valve Pad 1 

M4 Washer 3 
M4 x 8 Cap Screw 3 
O-Ring, 29.6 x 2.4 1 

Spring 1 
O-Ring, 19.6 x 2.4 1 

M4 x 12 Cap Screw 3 
M5 x 20 Cap Screw 6 

M5 Washer 6 
XDS30 Tip Seal 2 
O-Ring, 246 x 3 1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A & J Vacuum Services, Inc. 
16 Somerset Place 
Clifton NJ 07012 

973-249-0854 


